

Download this PDF to your computer and go to

www.livescribe.com/player

On iOS, open the PDF in Livescribe+.

ΥΠΟΛΟΓΙΣΤΕ

$$\sum_{k=0}^n \left(\sum_{j=4}^{2k+1} i^2 (i^3 - 2i + 3) \right) =$$

$$= \sum_{j=4}^1 i^2 (i^3 - 2i + 3) + \sum_{j=4}^3 i^2 (i^3 - 2i + 3) +$$

$$+ \sum_{j=4}^5 i^2 (i^3 - 2i + 3) + \dots$$

$$\sum_{i \in \emptyset} f(i) = 0$$

ВЫПОСЧИТАЙТЕ

$$\sum_{i=0}^n \left(\sum_{j=4}^{2i+1} i^2 (i^3 - 2i + 3) \right) =$$

$$= \sum_{i=4}^1 i^2 (i^3 - 2i + 3) + \sum_{i=4}^3 i^2 (i^3 - 2i + 3) +$$
$$+ \sum_{i=4}^5 i^2 (i^3 - 2i + 3) + \dots$$

$$\sum_{i \in \emptyset} f(i) = 0$$